
©E B2x0[2o2Q _KOujtEaG lSHobfOtJwzaWrMeU ^LLLUCP.k p `AilZlc HrLidgghOtssx crJeusoetrjv^eNdu.G y aM`aBdIeF vwCiKtshS cIUnHf_i[nyiVtMeC ZAPlGgjeZbWrMax g1I.

Worksheet by Kuta Software LLC

Math 1 

Review for Chapter 2 Test
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Draw a graph for each inequality.

1)  n £ 2

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

2)  p > -2

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

Write an inequality for each graph.

3)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

4)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

Solve each inequality and graph its solution.

5)  n + 15 > 31

9 10 11 12 13 14 15 16 17 18 19

6)  -3a ³ -24

3 4 5 6 7 8 9 10 11 12 13

7)  -13 < 
p

19

-250 -248 -246 -244 -242

8)  38 ³ v + 20

16 17 18 19 20 21 22 23 24 25 26
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Solve each inequality.

9)  x + 6x < -14 10)  x - 7 - 4 > -18

11)  5x + 8x ³ 13 12)  9 < a + 5 + 5

13)  n + 9 > 4(5n + 7) 14)  -2(n + 3) £ 39 + 7n

Solve each compound inequality and graph its solution.

15)  -2 + 6x ³ -14 and -6 + 10x < 94

-4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12

16)  -8 < -1 + 7x < 48

-4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

Solve each equation.

17)  -12 = -6(x + 3)
18)  7 + 

x

4
 = 9

19)  n  = 10 20)  8x + 8  = 8


